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Homework #3 - FDM

[ = Injection distance (um)
h = Injection time (h)
T = Injection temperature (K)

2.(a)
Injection time (h) Injection distance (um)

6.0 48.4

9.9 62.4

13.9 73.8

19.9 88.2

[ <\t

2.(b)

Injection temperature (K)

Injection distance (um)

1173
1273
1373

1473

39.5
71.7
119.3

186.4

2« el/T

Injection distance (¢m)

Injection distance? (um?)

=
[=]
o

90
80
70
60
50
40

4.0E+04

3.0E+04

2.0E+04

1.0E+04

0.0E+00

6.5E-04

R2=1 -

3 4
J/injection time (vh)

y = 6E+09e17861x
RZ=1

Tl

7.5E-04 8.5E-04

1/Injection temperature (1/K)

9.5E-04
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